7. Determine whether each of these pairs of sets are equal.
a) {1,3,3,3,555,5,5}, {53, 1}
b) {{1}} {L{1}} c) 0, {9}

9. For each of the following sets, determine whether 2 is an
element of that set.

a) {x € R|xis an integer greater than 1}
b) {x € R|x is the square of an integer}

c) {2.{2}} d) {{2}.{{2}}}
e) {{2}.{2{2}}} £) {{{2}}}
11. Determine whether each of these statements is true or
false.
a) De@ b) # € {0}
c) {0}co d) ¥ c |0}
e) {0} € {0} f) {0} Cc {0}

g) {ﬂ}; {ﬂ_} _



21. What is the cardinality of each of these sets?

a) {a} b) {{a}}
¢) {a {a}} d) {a {a}, {a {a}}}

23. Find the power set of each of these sets, where a and b
are distinct elements.

a) {a} b) {a b} c) {0 {0})

29. LetA = {a, b,c,d}and B = |y, z}. Find
a) AxXB. b) Bx A.

3. LetA ={1,2,3,4,5) and B = {0, 3, 6). Find

a) AUB. b) AnB.
¢) A-B. d) B-A.



1. Why is f not a function from R to R if

12.

13.
23.

a) f(x)=1/x?
b) f(x) = /x?
¢) f(x) =2 +1)?

Determine whether each of these functions from Z to Z
15 one-to-one.

a) f(n)=n-1 b) f(n) =n’*+1
¢) f(m)=n’ d) f(n) = [n/2]

Which functions in Exercise 12 are onto?

Determine whether each of these functions is a bijection
from R to R.

a) f(x)=2x+1
b) f(x) = + 1
¢) flx)=x

d) f(x) =+ D/(x*+2)



